Math 2B: Quiz 2B Solutions
Matthew Cheung

Exercise 1 (3 points) Find the derivative of
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Using FTC and Chain Rule, we get

Solution:

¢'(z) = 2ar™ — 107"

Exercise 2 (3 points) Evaluate
2
8
/ (\/j + ze> dz
1 z
2 [g 2 2 2
/ —dz—l—/ zedz:\/g/ z_2dz+/ 2°dz
1 z 1 1 1

= (2\@2% + : =2 = (2\/§)2% + il (2\/§)1% _

1/'#= e+1

Solution:

1e+1

e+1

zet
e+

Exercise 3 (4 points)
(a) Use the Fundamental Theorem of Calculus to evaluate
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(b) Express the integral from part (a) as a limit of Riemann sums.
(c) Use the limit of Riemann sums definition to evaluate the integral in part (a).

You will need " ;i = %
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